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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',
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Trend plot forP3-14 0
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P3-14

FfiE) | EBIAT (FD) | ERE (BEA/4R) | BEREE(B/R) | XS R

06:00 283 150.0 2.888 [Z=| ThHAQD6:00 kENFEF (KAfEEER)
06:35 283 150.0 2.888 (Z=| FmHAQO6:35 KENFEF (RA{EEIER)
07:10 283 150.0 2.888 (£ =| FhHA@O7:10 KENFEF (RA{EEEE)
08:25 283 150.0 2.888 |Z x| THHe08:25 KiENFEF (RAIEELEE)
09:15 283 150.0 2.888 (Z=| FWHA@09:15 kENFEF (RA{EEEE)
09:55 283 150.0 2.888 |Z=| 7iHe09:55 FKEFEF (RAEREE)
10:30 283 150.0 2.888 [Z=| ThHA@10:30 kENIEF CRAMHEEER)
11:05 283 150.0 2.888 |z =| FmHAe11:05 KEEHF (GREBERSE)
11:40 283 150.0 2.888 (Z=| FaHA@11:40 kENFEF CRAMEEE)
12:10 283 150.0 2.888 (Z=| FhHAe12:10 kENIEF CRAHEEER)
12:40 283 150.0 2.888 (Z=| FhHA@12:40 KkENFEF CGRA{EEEE)
13:10 283 150.0 2.888 (Z=| FhHA@13:10 kENFEF CRAfEEE)
13:45 283 150.0 2.888 [(Z=| ThHA@13:45 kENIEF CRAKEER)
14:20 283 150.0 2.888 [(Z=| ThHA@14:20 kENFEF CRA{EEEE)
14:55 283 150.0 2.888 (Z=| FmHA@14:55 KENFEF CRA{EEE)
15:30 283 150.0 2.888 (£ =| FhHA@15:30 KENFEF (RA{EREEE)
16:10 283 150.0 2.888 [Z=| ThHAe16:10 kEIEF (CKAHEER)
17:00 283 150.0 2.888 (Z=| FhHA@17:00 kENFEF CRAfEEER)
24it]5094.0 (18%%) 2700. 0 3ESHKEC: 2080.0, PH: 6.0

FEKECE (1803.0 vs 3567.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-14_0, Day=73 (2025-06-12)
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P3-14

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:15 283 150.0 2.888 BE| {Ri&e07:15 Bal (REAEHE)
07:50 283 150.0 2. 888 RS {Ri%e07:50 Bz (REERE)
09:00 283 150.0 2. 888 s 1Ri%@09:00 Bal (REEESE)
09:50 283 150. 0 2.888 RS {Ri&e09:50 B (REAEHE)
10:35 283 150.0 2.888 BS| 1Ri%e10:35 Bz (GREMEEEE)
11:15 283 150.0 2. 888 Bl Rige11:15 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:30 283 150.0 2.888 RS Rige12:30 Bz (REAERE)
13:00 283 150.0 2. 888 BE| Ri%e13:00 B (RF{EREE)
13:30 283 150.0 2.888 el Rige13:30 Bal (REAERESE)
14:00 283 150.0 2.888 BE| Rige14:00 Bz (REAEHE)
14:35 283 150.0 2. 888 e Rige14:35 Bz (REAERSE)
15:15 283 150.0 2.888 el Rige15:15 Ba) (REEESE)
16:00 283 150.0 2.888 BE| Rige16:00 Ba (REAEHE)
17:00 283 150.0 2. 888 BE| Rige17:00 Bz (REAERSE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 6.0

MERRNERE STREAERE (184.0 : 147.0), AEeHF—RZ XA45
ZRIN L PRIERE147.0 ml.
HERECE (1847.0 vs 3740.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=72 (2025-06-11)
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39.5 - 505 38 -
‘ 40 -
37 1
39.0 - 38
39. 0 A 36 4
36 -
35 -
38.5 -
T T T T T T T T T T T T T
975 980 985 1035 1040 1045 400 600 800 1000 440 445 450
m=470,m FV0=0 m=510,m FV0=0 m=555,m FV0=0 m=595,m FV0=0
—— MW 45 1 —— MW —— MW —— MW
44 44 -
44 -
43 - 44 -
43 43 -
42 - 43 -
42 -
41 A 42 1
42 41 -
40 41 -
39 1 41 40
40 -
38 T T T T T T T T T T T T
470 475 480 510 515 520 555 560 565 595 600 605
m=630,m FV0=0 m=665,m FV0=0 m=695,m FV0=0 m=725,m FV0=0
44 -
44 - —— MW 441 —-— MW —— MW —— MW
43 -
43 - 43 -
43 - 4
42 42
42 -
41 -
41 A 41
41 -
40 -
40 40 1
40 -
39 -
39 A 39 4
630 635 640 665 670 675 695 700 705 725 730 735
m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0 m=850,m FV0=0
43 —— MW —— MW —— MW 431 —— MW
43 43 -
42 -
42 1 42 47
41 -
41 -
417 41 -
40 -
40 - i
40 40
39 -
39 - i
39 39 4
38 -
755 760 765 785 790 795 815 820 825 850 855 860



m=890, FV0=0

—— MW
42 -
41 -
40 -
39 -
38 -
T T T
890 895 900

m=930, FV0=0

43 -

42 -

41

40 ~

39 -

38 A

—0—

M_W

930

T
935

940

m=975, FV0=0
—— MW

43 4
42 4
41 4
40
39

T T T

975 980 985

m=1035, FV0=0

44 4

43 -

42 -

41 -

40 -

39 A

—0—

M_w

T
1035

T
1040

T
1045
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P3-14

BYiE) | GERAKE) | Els (EA/H) | EREE B/ R | X8 SRR

06:45 283 150.0 2.888 5 B21%@06:45 Bzh (FRFAEESE)
07:25 283 150.0 2. 888 RS B2i%@07:25 B3 (RFE{ERSE)
08:20 283 150.0 2.888 i B2i%e08:20 Bz (REERSE)
09:25 283 150.0 2.888 i B218@09:25 Bzh (FRFAEEE)
10:30 283 150.0 2. 888 RS B2i%@10:30 Bz (RF{ERE)
11:15 283 150.0 2.888 RS Bige11:15 Bzh (RAERESE)
12:05 283 150.0 2.888 A Big@12:05 Bzh (RAEESE)
12:50 283 150.0 2. 888 RS Bi%e12:50 Bz (RFEERSE)
13:25 283 150.0 2.888 RS Bi%e13:25 Bz (REERSE)
14:00 283 150. 0 2.888 5 B218@14:00 Bzh (RAEESE)
14:35 283 150.0 2.888 5 Bi%e14:35 B3 (RFEERSE)
15:20 283 150.0 2. 888 {5 Bi%e15:20 B3 (REERSE)
16:05 283 150. 0 2.888 5 B1%@16:05 Bzh (FAEESE)
17:10 283 150.0 2.888 | FiTe17:10 Bz CGRAEZESE)
21t 3962.0 (14)%) 2100.0 3EUHIKEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[ERECE (1887.0 vs 3963.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14 0, Day=71 (2025-06-10)

150 fFf————F—————Fe—F————— Y — T T T
VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760 3000
2208 2200 250 ’T\
100 11800 7147 2000 ©
290 E
50 - “ - 1000 &
. N T 00
Warning: lcol [FVI',| "FVO’'] missing
0_
(
200
150
|
100
50
1.0
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.9 N
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
Bylnit D73 02:01: ET=2519 Fg=3000.0 Ro=640.0 4000
400 - , £
| - 3000 —
: 2
] - 2000 £
200 - ! ,_
L
I - 1000 §
1 o
—o— e
015 1 2 3 4 5 6 7 ) 910111213141516171819202122232000
O 0 0 O 0 0 I I ™
1 c
ByEt @D71 19:06: ET=2475 Fg=2250.0 Ro=nan : - 3000 %’_
~N
- 2000 £
200 - _— | e
: -1000§
)—o—0—— 00— D e —
015 1 2 3 4 5 6 7 ) 910111213141516171819202122232000
O 0 0 O 0 0 I [
] C
ByWoFv I@D73 02:01: ET=1714 Fg=2100.0 Ro=413.0 - 3000 %’_
~N
| —_—
] - 2000 S
200 - ! ,_
L
I - 1000 §
1 o
1.0 0
0.8 -
0.6 -
0.4
0.2
0.0
—_— 4
1500
[ ] | _obs
—@— PPFD obs

LW N

RH
[ ] RH_obs
[ ) RHo_obs




39

38

38

39.

38.

38.

40.

39.

39.

38.

40 -
39 -
38 -
37
36 _I T T T
400 600 800 1000
m=580,m FV0=0
—e— ME
e
.5
.0
5éo 5é5 560
m=755,m FV0=0
—o— ME
0 -
5 -
0 -
755 760 765
m=890,m FV0=0
0 —o— ME
5 -
0 -
5 -

890 895 900

m=440, FV0=0

—e— ME
37.5 -
37.0 -
36.5 -
T T T
440 445 450
m=630,m FV0=0
—o— ME
39.0 -
38.5 -
38.0 -
T T T
630 635 640
m=785,m FV0=0
39. 75 -
—o— ME
39.50 -
39. 25 -
39.00 -
38. 75 -
38.50 -
38. 25 -
785 790 795
m=925,m FV0=0
40.00 4 ~®— ME
39. 75 -
39.50 -
39. 25 -
39.00 -
38. 75 -

925 930 935

38.

38.

38.

38.

37.

37.

39.

38.

38.

38.

38.

37.

39.

39.

38.

38.

40.

39.

39.

m=475, FV0=0

75 -

50 A

25 A

00 -

75 1

50 A

M_E

475

4é0 4é5
m=675,n FV0=0

00 ~

75 -

50 A

25 A

00 -

75

—o—

M_E

6é0 6é5
m=825,n FV0=0

850 Bé5
m=960,n FV0=0

\ﬁ

39.

38.

38.

37.

39.

38.

38.

39.

39.

39.

39.

39.

39.

39.

38.

m=535, FV0=0
07 —o— M_E
5 -
0 .
5 .
555 550 555
m=715,m FV0=0
—o— ME
0 .
5 .
0 .
755 750 755
m=855,m FV0=0
81 —o— ME
7 .
6 .
5 .
4 .
860 862 864 866 868
m=1030m FVO0=0
—o— ME
5 .
0 .
5 -

1030 1035 1040



44 -

42 -

40 -

38 -

36

- MW

400

T T T
600 800 1000

m=580,m FV0=0

44 4

43 A

42 -

41 -

40 -

39 A

—— MW

5é5 5é0
m=755,n FV0=0

43 -

42 -

41 -

40 -

39 A

38

—— MW

755

7é0 765
m=890,n FV0=0

43

42 -

41 -

40 -

39 -

- MW

890

895 900

m=440, FV0=0

41

40 -

39 A

38 A

37 A

36

T T
445 450

m=630,m FV0=0

44 -

43

42 ~

41

40 ~

39 -

T T
635 640

m=785,m FV0=0

43 A

42 ~

41 -

40 -

39 -

785

790 795

m=925,m FV0=0

44 -

43 -

42

41

40 -

925

930 935

m=475, FV0=0

45 -

44 -

43 -

42 -

41 -

40 -

475

T T
480 485

m=675,m FV0=0

43 -

42

41 -

40 ~

39 A

38 -

T T
680 685

m=825,m FV0=0

42 -

41 -

40 -

39

38 A

43.5

43.0

42.5 -

42.0 -

41.5 -

830 835

m=960,m FV0=0

44 -

43 4

42

41

40 -

965 970

m=535, FV0=0

44

43 -

42

41 -

40 -

39 A

5&0 5&5
m=715,n FV0=0

43 -

42

41 -

40

39 A

38 A

7é0 7é5
m=855,n FV0=0

860

864 8é6
m=1030m FV0=0

43

42 -

41

40

39 A

1030

1035 1040




hour

:00 -

:55 -

:00

105

:05

115

:55

:35

:30

:00

&S

100

80

- 60

- 40

20



P3-14

BriE) [ EBIAT (D) | EME (EH/H) | BEBREE(B/R) [XKS ERE

05:30 283 150.0 2.888 A {’Ri%@05:30 Bz (KREEREE)
06:30 283 150.0 2.888 A ;Ri%@06:30 Bzl (kAEEE)
08:15 283 150.0 2.888 (&= B21%@08:15 Bzh (FRFARESE)
10:00 283 150.0 2.888 |Z & BRi%@10:00 Bzl (KBEREE)
11:05 283 150. 0 2.888 (=& Bi%@11:05 Bzh (GRAEESE)
12:05 283 150.0 2.888 |Z =& B2i18@12:05 Bzh (RAKRESE)
13:15 283 150.0 2.888 [/I\[l Bi%@13:15 Bzh (GRAERESE)
13:55 283 150.0 2.888 [/I\[E Bi%@13:55 Bzh (RAERESE)
14:35 283 150.0 2.888 A BRig@14:35 Bz (RPBERE)
15:30 283 150.0 2.888 (&= B2i18015:30 Bzh (RAKRESE)
17:00 283 150.0 2.888 || FiTe17:00 Bzh (RAEESE)
23t 3113.0 (110%) 1650. 0 32 F%KEC: 2080.0, PH: 5.8

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
2RI\ PRIERE150. 0 ml.
HERECE (1897.0 vs 4277.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1808 3

P3-14_0, Day=70 (2025-06-09)

150 A

100 A

50

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2700
2208
954 1800 {800
347

80 80
Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

|
4001 Bylnit D73 02:01: ET=1841 Fg=2250.0 Ro=494.0
I
}
I
I
)
)
I
I

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

40012272 | B | B | B [B [ B [ W | ® | m | m | [W[B|[w|[w |/ |B|B|[B[B[®]F

300 4 ByEt @70 19:07: ET=1822 Fg=1800.0 Ro=nan I

e 11 S S na———

s s

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

402= 2= (&= B | BB | BB | BB [2=|&8=8=|25125 25|08 | 25|25 125 25258585 B | B
1
300 4 ByWoFv PD73 02:01: ET=1347 Fg=1650.0 Ro=353.0
1
)
y00 . | e o o
1
100 ! -

0.8

0.6

0.4+

0.2~

ZE|ZE(Z=| W | BB | W [ B I ZR[(ZR|EE(ZR|ER[(Z|)W| B |ER|(ZE|EE |2 (2|2 (2| B [ B

I
[ ] | _obs

1000 ‘ ! —8— PPFD obs

500 A

RH_obs
RHo obs

]

® ® VP
2.0 - *® ﬁ

3000

- 2000

- 1000

3000

- 2000

- 1000

3000

- 2000

- 1000

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



39.

38.

38.

39.

38.

38.

40.

39.

39.

39.

39.

39.

T
400

T T
600 800

m=615,m FV0=0
—o—
615 620 625
m=830,m FV0=0
—o—
830 835 840
m=1020;m FVO0=0
—-—

1020

1025 1030

m=370, FV0=0

37.00 A

36. 75

36. 50

36. 25 A

36. 00

35. 75 A

3%5 3é0
m=670,n FV0=0

39.0 A

38.5 -

38.0 A

6%5 GéO
m=865,n FV0=0

39. 75 A

39. 50

39. 25 A

39. 00 A

38.75 4

38. 50 A

38. 25 A

865

870 875

——

400

600 800

m=415, FV0=0

38.5

38.0

37.5 -

415

4&0 455
m=715,n FV0=0

39.0

38.5

38. 0 -

37.5 A

——

7é0 7&5
m=910,n FV0=0

39. 75 A

39. 25 A

39. 00 ~

38. 75

38. 50 ~

9%5 950
m=370,n FV0=0

38 A

37 A

36

35 -

34 -

33 A

——

370

375 380

m=525, FV0=0

39. 25 A

39. 00

38. 75 A

38. 50 A

38. 25 A

38. 00 A

M_E

550 5é5
m=765,n FV0=0

39.5 A

39.0 A

38.5 A

38.0 -

;

7%0 7;5
m=965,n FV0=0

39. 75 A

39. 50 A

39. 25 A

39. 00 A

38. 75 A

38. 50

9%0 955
m=415,n FV0=0

43

42 4

41 -

40 -

39 A

38 -

37 A

-o— MW

420 425




m=525, FV0=0

43 -

42

41 A

40 ~

39 A

—0—

M_W

525

T T
530 535

m=765,m FV0=0

44 4

43 A

42

41 -

40 -

39

38

—0—

M_W

765

T T
770 775

m=965,m FV0=0

42

41 -

40 -

—0—

M_W

965

970 975

m=615, FV0=0

43

42

41

40 -

39 -

—0—

M_W

615

T T
620 625

m=830,m FV0=0

42

41 A

40 -

39 -

38 A

—0—

M_W

830

T T
835 840

m=1020m FV0=0

44

43 A

42 -

41

40 A

—— MW

1020

1025 1030

m=670, FV0=0

43 -

42

41 -

40 -

39 -

38 -

—0—

M_W

670

T T
675 680

m=865,m FV0=0

43 A

42 -

41 -

40 -

39 A

—o—

M_W

38 -

865

870 875

m=715, FV0=0

43

42

41

40 -

39 A

38 A

—0—

M_w

715

T T
720 725

m=910,m FV0=0

43 -

42

41 -

40

39 A

—0—

M_W

910

915 920
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P3-14

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

06:30 283 150. 0 2.888 RS {RRi%e06:30 B (REAEHE)
07:10 283 150.0 2. 888 RS {Ri&e07:10 Bz (REERE)
08:20 283 150.0 2. 888 BE| {Ri%e08:20 Bl (REEEE)
09:15 283 150.0 2.888 RSl Ri&e09:15 BHal (REAEHE)
10:05 283 150.0 2.888 BS| 1Ri%e10:05 Bz (GREMEEEE)
10:50 283 150.0 2. 888 el 1Ri8@10:50 Bal (REEESE)
11:30 283 150.0 2.888 | 1Rige11:30 Bzh (GREEREE)
12:10 283 150.0 2.888 Bl Rige12:10 Bz (REAERE)
12:45 283 150.0 2. 888 BE| Ri%e12:45 Bz (GREAEREE)
13:15 283 150.0 2.888 el Rige13:15 Bal (REAEHSE)
13:45 283 150.0 2.888 BE| Rige13:45 BHa (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:55 283 150.0 2.888 sl {Rige14:55 Ba) (REAEESE)
15:35 283 150.0 2.888 BE| {Rige15:35 Ba (REAEHE)
16:25 283 150.0 2. 888 BE| Rige16:25 Bz (REAERSE)
Bit| 4245.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
2RI\ PRIERE150. 0 ml.
HERECE (1927.0 vs 4070.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant)

P3-14_0, Day=69 (2025-06-08)

R S it
VI, V&RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 3312

100 2500

842 958,500

50

60 80
Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -
150 -

100 A

50 -

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0

]
400 - Bylnit D73 02:01: ET=2565 Fg=3150.0 Ro=640.0 ¢ 4000

- 3000

900 - - 2000

- 1000
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% | % | % | % | | | | | % | m | m | | % || % | % | m | @ ||| ® | %] % | m® 400

ByEt @D69 19:06: ET=2389 Fg=2700.0 Ro=nan

400

- 3000

900 - I - 2000

- 1000
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S m— . . = S — I
R WS S S W— —

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
% | % | % | % | | m | | | % | m | m | | m | w || % | m @ (Z]5n5n 400

ByWoFy @D73 02:01: ET=1956 Fg=2250.0 Ro=438.0 | 3000

400

— - 2000

- 1000
| | 1| [ P ———

200 -

ET (ml/hr/plant)
—_————y—

1.0 A

0.6

0.4+

0.2~

0.0
1500

—_— 4
[ ] | _obs
—@— PPFD obs

RH
[ ] RH_obs
[ ) RHo_obs

49 J0 e v [

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



39.

38.

38.

38.

38.

37.

37.

T T T T
400 600 800 1000

m=550,m FV0=0

00 ~

75

50 -

25 A

00 -

75 1

50 A

—o— M_E

i

550 5%5 560
m=690,n FV0=0

39. 2 A

38. 8 -

38. 6

38. 4

38. 2

—o— M_E

i

690 655 760
m=810,m FV0=0

A/Q

m=385, FV0=0

37.04 —® ME
36.5 -
36.0 -
35.5 -
T T T
385 390 395
m=590,m FV0=0
39.001 ~® ME
38. 75 -
38.50 -
38. 25 -
38.00 -
37.75
T T T
590 595 600
m=720,m FV0=0
30501 o ¢
39. 25
39.00 -
38. 75 -
38.50 -
38. 25 -
720 725 730
m=840,m FV0=0
—o— ME
40.0 -
39.5 -
39.0 -
840 845 850

m=415, FV0=0

38.50 1 —®

38. 25

38. 00

37.75 A

37.50

37. 25 A

415

T T
420 425

m=625,m FV0=0

39. 00 ~

38. 75 A

38. 50 A

38. 25 A

38. 00 ~

37.75 15

T T
630 635

m=750,m FV0=0

39.75 4

39. 50

39. 25 A

39. 00 ~

38. 75

38. 50 A

38. 25 -

750

755 760

m=870,m FV0=0

40.0

39.5 A

39.0 A

i
W

870

875 880

38.

38.

38.

38.

37.

37.

39.

39.

38.

38.

38.

38.

40.

39.

39.

39.

39.

38.

40.

40.

40.

39.

39.

39.

39.

m=495, FV0=0

75 -

50

25 A

00 -

75 1

50

495 560 565
m=655,n FV0=0

25 A

00 -

75 1

50 -

25 -

00 -

655 GéO 6é5
m=780,n FV0=0

00 -

75 -

50

25 -

00 A

75 A

—0— ME

780 7é5 750
m=900,n FV0=0

50 A

25 -

00 -

75 -

50 -

25 A

00 -

-o— ME

900 905 910




40.

40.

40.

39.

39.

39.

39.

m=935, FV0=0

T T
940 945

m=385,m FV0=0

T T
390 395

m=590,m FV0=0

595 600

m=720,m FV0=0

725 730

40.

40.

40.

40.

39.

39.

39.

m=970, FV0=0

m=1005, FV0=0

T T
975 980

m=415,m FV0=0

T T
1010 1015

m=495,m FV0=0

T T
420 425

m=625,m FV0=0

T T
500 505

m=655,m FV0=0

630 635

m=750,m FV0=0

660 665

m=780,m FV0=0

755 760

785 790

34 -

-— MW

400

660 860
m=550,n FV0=0

T
1000

42 -

41 -

40 -

39 -

38

—— MW

T T
955 560

m=690,m FV0=0

42 -

41 -

40 -

39 -

38

—-— MW

690

695 700

m=810,m FV0=0

43

42 -

41

40 ~

39 -

-o— MW

810

815 820




m=840, FV0=0

42 -

41 -

40 -

39 -

—— MW

T
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T T
845 850

m=970,m FV0=0

43 -
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41 -

40 4

39

—— MW

T
970

T
975 980

43

m=870, FV0=0

42 -

41

40 -

39 A

—— MW

870

T T
875 880

m=1005m FVO0=0

43

42

41

40 ~

—— MW

T
1005

T T
1010 1015

m=900, FV0=0
43 —— MW
42
41
40
39 -
T T T
900 905 910

m=935, FV0=0
43 1 —o— MW
42 -
41 A
40 -
39 -
T T T
935 940 945




